| N of simulated tracks vs dxy | N of associated tracks (simToReco) vs dxy |

n : n
L) r : o
o = : =
£ 107 F e R ©
© F : Q
o C 8 ©
2 I = 2
= 1045— '''''''''''''''''''''''''''''''''''''''''''''''''''''' 1]
O E c
s f S
[ Ni )

10 o

10?

......................................................................

Ratio
Ratio

& R T
9990 -15 -10 -5 0 5 10 15 20 09015 -10 =5 0 5 10 15 20
TP dxy (cm) TP dxy (cm)
—=— DQM_original_originalvector_1000evt
—e— DQM_original_1000evt

N of simulated trach . pQM fitted4_1000evt
DQM fit nocpe 1000evt

0 [ [7p)
Q : : o
9 L : E =
i " 3
L e e et eaeaeaaaas

o 10°F g ; 3]
o)) E ey : 3 1072
£ L : : =
X~ L : ;o= : [%2]
(8] : : c
© r B (o]
= " : 8]
— 103_ ........................................ S S P )

= === ® o e

- "

C u

.9J-.Uo:llll:IIII!IIII;IIII!IIII:IIII IQJ_.UO__ | :

S 111 AR 1111110

=) : WL ) st Wi
1l | il

; ; : 1t :
0930 20 -10 0 10 20 30 0939 =20 -10 0 10 20 30
TP dz (cm) TP dz (cm)



	Contents
	Page 1


